Réponse de Euler

,ZQ%W ‘{-Wﬁ.&?ﬂh&wwaﬂa
AzL' £5 . ZZxrfit.Z5'3‘x5 4255, ...........

Rk,.f‘__‘ B A N N N U N G N At |

Repoﬁse de Cantor
%lxeﬂ SNTANE
%é" ?e‘fb‘
u D5 - ﬂeSé

T 3t qayer en Yok 425 €
‘QO‘)(' R%‘ba@l. 5 Soufs . [

Reponse de Vlllanl

s s 1 | ]
'/ 1 don ‘Jf 5619
£ X 44 bereganes = 55 & fou eﬁ%
|| | 1 . |
St X blaut N 196/G 8 [ | [ "'_'iL"\‘l

Réponse de Euler

,zb,ar&wﬁpﬁ.AwﬂdL#uaﬁabhﬂﬁ»tf&uf*meauzJ%huHZA%r
A.zL’ 5 ZZxrfit.Z5'3‘x5 42551 ...........

Rk7.7%_¢ S0 N A A

Réponse de Cantor

f:xeﬂego MTM' EEEEENE
: 4 %xst . ﬂGSé

TR 3t qayer en Yook 425 €
‘QO‘)(' R%‘bﬁ@l. 5 Soufs . |

Réponse de Vlllanl
s N 1

|
>/ il s oY \_’;4 565
£ X 44 bereganes = | 55 & fou QE;;L
| | | 1 | 2
B2t X blaut =~ 190G & L L L iL\
BE3F bk b ; i M{;_.‘J 1—( 16 ac V)ﬂﬁ”(ii%!i _%;q'




